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L. Isz=IZ+E|,wherez=x+iy,i=,/-l

- . rder 3
’15. If A, B and C are square mamces_of g

is the
and det(BC) = 2 det(A), then what 18
value of det(2A-1BC)? *

then the locus of z js a pair of :

(a) straight lines

l @f rectangular hyperbolas

(a) 16
y parabolas
: (b) 8
(d) circles
e 4

2. IPL+ 814514 704 4+ 1991 is divided by 24, w 9
:f what is the remainder ?

(a) 3
2n+5

: b) 6 6. If the n™ term of a sequence is , then
“ W g what is the sum of its first 140 terms ?
@ 9
: : (s~ 2840
:3. What is the value of [12+5 + J12-5i, ®b) 2780
where i = ,/—- 17? »
\ . W 2920
Jaf 24
(b) 25 : ' : ~(d) 5700
% 542
(d 5(v2 -1
) (V2 ) 7.  Let A be a skew-symmetric matrix of order 3.
1 - ‘ What is the value of
4 If A=|2|, then what is the value of det(4A*) — det(3A3) + det(2A2) — det(A) + det(<I)
3

. where I is the identity matrix of order 3 ?

det(I + AA’), where I is the 3 x 3 identity
matrix ? | | y —1
(@) 15 . - ® 0
(b) > (@ 1
\ge/ 0 :

o d 2
-

DFTK-S-MTH (3-A)
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e B = e — IS A ——

1
0 . 8,4 ¢, )il
[ HA=|-3 0 5|, then which one of the |11+ Letty ty, ty .. bein GP. What is(tt; -~ *21
-4 -5 - 0] -
equal to ?

following statements is correct ?

W A? is symmetric matrix with det(A2) = 0,
- - 2
® A?is symmetric matrix with det(A2) = 0, % b0

(a) th

‘ J(( AZ s skew-symmetric matrix with © tn
! det(A?) = 0. .
: . d) 1t
f (d  A® is skew-symmetric matrix with
det(A%) = 0. '
| 12. Which one of the following is a square root of
;f 200 -J-17?
3. IfA=|0 3 0|, then which of the following .
: 00 4 (a) 1+i
! statements are correct ? (b) -1‘/—;1-
2'.

. 1. A" will always be singular for any & :
positive integer n. ' y %
2. A" will always be a diagonal matrix for

-

. . : ‘ v 1
any positive integer n. - d —=i
teg 2
3. A" will always be a symmetric matrix :
- for any positive integern. 13. What is the maximum number of points of
Select the correct answer using the code given intersection of 10 circles ? e
below : -

- (a) 45
)?/iland2only . " y (-30

(b) 2 and 3 only

, LA (© 90
) 1and 3 only , -

' (d 120
(d 1,2and3

14. A set S contains (2n + 1) elements. There are

10. If (a+b), 2b, (b +c) are in HP, then which 4096 subsets of S which contain at most n

one of the following is correct ? elements. What is n equal to ?
(a) a,bandcarein AP (@ 5
&Y a-b,b-cand c—aareinAP - (b) 6

wa,ba.ndcaremGP ¢ ‘ w"?'
Lo @ 8

a-b,b-candc- aareinGP

'DFTK-S.MTH (5=A)
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| x2+3x x-1 X+3
{ 1f| x+1 -2x x-4
| x-3 x+4 3x

=ax4+bx3+cx2+dx+e,

| then what is the value of e ?

i ?—');, IEVITL SESSRENYE |

Pl phodiegs

are equal to 1 or — 1 then the value of the
determinant is : ;

% 0 only

’;'- ()  an even number but not necessanly 0

(¢) anodd number

(@ 0,1or-1-
- 2 -1 0 A
7 fA=|-1 3 0], then what is the value
1..0 :1

of detfadj(adjA)] ? |
P 5
‘% 25

(e) 125

@ o5 1
TS MTH
&,’.‘. “ -

* If all elements of a third order determinant: ¢

19.

v

20.

1.0 0]e marn e
IfA=|0 1 0, then whatis
001 i '

23A3 - 19A2 — 4A equal to ?

V Null matrix of order 3

Jw Identity matrix of order 3

, 200
(c) 0 2
0 0 2

L -

Q

(7 0 0
(d) 0
00 7

-
(==

The value of the determinant of a matrix A of

order 3 is 3. If C is the matrix of cofactors of

5E the matrlx A, then What is the value of

. determmant of C2 ?

€ 81
(@ 729 L&l
k 21 e
IfAk' [k 9 k+1] thenwhat is

det(A)) + det(Ay) + det(A3) +

we F det(A_wo)
equal to? ,

L e
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B

|

The Cartesian product A x A hpg 14 clements | 23.

among which are (0, 2) and (1, 8). wy;q), of the

following statements is/are correct, ?
1. Itis possible to determine set A
2. AxAcontains the element (3, 9),

. Select the correct answer using the coda given
below :

(@) lonly
% 2 only
(¢ Both1land2
: (d) Neither 1 nor 2

. let A =11, 2, 3, ..., 20}. Define a relation R
 fromAto A by R = {(x, y) : 4x — 3y = 1}, where

X%,y € A. Which of the following statements

24,
is/are correct ?

1 The domain of R is {1, 4, 7, 10, 13, 16}.

2. Therange of Ris {1, 5, 9, 13, 17}.

3. The range of R is equal to codomain of R.

Select the correct answer using the code given
below 4

@ 1 only

b 2 only

w land 2 . ahd

@

| 2and 3

R g B, Y E N R, o R SR
,_.,vm .

Consider the following statements :
1. The relation f defined by
() = x%, 0<x52 ;. unction.
4x, 2<x<8
2. The relation g defined by

2

X,
Bl = {33{,

0<x<4
4<x<8

is a function.

Which of the statements given above is/are

correct ?

(a) 1only

" (d)  Neither 1 nor 2

Consider the following statements :
1. A=(AUB)U(A-B)
2. AUB-A)=(AUB)
3. B=(AUB)-@A-B)
Which of the stafements given above are
correct ?
(a) 1and2only
w 2 and 3 only
(¢) 1and 3 only
(d 1,2and3
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A function  satisfies fix—y) = f(X)
f(y)’

where fiy)#0. If fl1)=045, then what is .
f2) + £3) + f4) + f5) + {16) equal to ? % :1),_2
(a) %% _ ) 1_87_
® %—72- : (c) 19_7
9{ % | ) %;‘

|
14
1

29. If tan (i cos 8) = cot (n sin ), 0 < O < g; then

what is the value of 8 sin? (9 + %) ?

6. Whatis 2 cot (% cos ! g] equal to ?
(a) 16
@ -1 b 2
i) 1 © 1
W 3+ 45 , y 1
@ 3-.5
30. Iftanoc:l, sinB:’__l_-0<a B<_n_
z l ‘ . ‘ 7 | V J’ﬁ’ » 2 ’
Lo sec™lp — cosec™lq = 0, where p > 0, q > 0; then what is the value of cos (o +2B)?
then what is the value of p~2 + q?? ‘(a) - %
:(a) 1
: 1
(b) - —
(b) p) V2
sl 1
157 () —
.,;1};- '_’) e « l
— 2

(11-A)
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Gonsider the following for the next 4154 (59,
5 s that follow :

gonSI :der the equation (1 — )4+ (5= x)? = g,

gl What is the number of real rogts of the
?a equatiﬂn?

L @0

3 :

®) 2

h

S J-f-"

W :
32, What is the sum of all the roots of the
equation ?

(@) 24

B 12

v 1

@ 6

-

Consider the following for the next three (03)
‘tf"“ that follow :

C?Midel' equation-I : 23 + 222 + 2z + 1 = 0 and

€Qation |1 , ,1985 , , 100 +1=0.

L

B Wha are the roots of equation-I 7

: (a) 1, 0, o2

-1, 0,

(13

2

) ; t of
34.  Which one of the following is & T

equation-II ?

(a) -1
(b) -w
() -—w?

35. What is the number of common roots of

equation-I and equation-II ?

Vo

® 1
© 2
(d 3

Consider the following for the next two (02)

items that follow :

A quadratic equation s given by

(a+b)x2—(a+b+c)x+k=0,wherea,b,cal‘e

real.
36. Ifk= —,(c#0), then the roots of the equation
are :
(a) Realand equal
Real anq unequal

W Real iffa »

(d) Complex byt not real

-A)

A.mﬂﬁ
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fk = ¢, then the roots of the equation arg

a+cC
wa-{-b a+b

3+C and- b

(b) a+b a+b
c
© 1andawb
.
@ -land_a+b_

asider the following for the next three (03)

ns that follow :

A+ =1+Tix+ T2x2 +T3x3 + ...

Whatis Ty + 2Ty + 3T3 + ...
yo

B 1

] 2"

(@ n2n-1

 Whatis 1 Ty + 2T, — 8T +

equal to ?

@ o
—9on-1

() pon-1

@

n
+ T, x".

+nT, equal to ?

e + (=1)"nT,

* WhatisT, +Ty + Ty +...+ Ty equal to ?

(a) on

T T —

2

Consider the following for the next two (02)

items that follow :

" |Let fix)=x%-1 and gofix)=x - J;+ 1.

|41, Which one of the following is a possible

expression for g(x) ?

MJX+1—‘\4/X+1
w \/x+1—$/x+1+1

(@  Jx+1 + Jx+1

vx+1+1

d x+1-

42. What is g(15) equal to ?
(a) 1
g

d 4

Consider the following for the next two (02)
items that follow :

Let a function f be defined on R {0} and

_ 2f(x)+f[1) =x+3,.

43. Whatis f{0'5) equal to ?

1

(a) E

' 2
Y s
(c) - 1

d 2 _

(15-A)

1
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s differentiable, then what i is f (0- 5) equal

'.ft,o"
!
(a) 4
2
b 3 7
o 2 : ol
nsider the following for the next two (02)
'rnstkdt follow : : !
unction is defined by } g
b 1 :
¥ . X+1ieas 2. 3
i fix)= |32, %xEdi. g .|
o 3 6 X+9

- The function is decreasing on :

- (a) -ﬁo]
e |3
) o,ﬁ]
|73
w 50
0,20
Vg
W -Qﬁq'
W P

47,

\

Consider the following for the next two (02)
items that follow :

Given that 4x2 + y2 = 9,

What is the maximum value of y?
v 3
(a) =
2

Vol
&
@ 6

48. What is the maximum value of xy ?

: 9
3
e 4
(C_) 5
v 2
53

Cons:der the followmg for the ‘next two (02)

|items that follow :

A functlon is deﬁned by fix) = 7 + sin? x.

49. What is the range of f the functlon ?

.

(b) [m,m+1] '

\‘ \"a_\

[0, 1]

© =11+ 1]
@ fr-Lr-a)

:{80. What is the period of the functmn 9

(@) om

: w s
e
(c) 5
(@

(17-A)

The function is non-periodic

A
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TR AT

:jer the following for the next two (02)
Ll“ that fbllow
! p,fabﬂl“ pass
iﬂ%ﬁnﬁal equatio

s throu 1gh (1 2) and sutlsﬁes the
dy oxs 0,y>0.

dx X
What is the directrix of the parabola ?

1
. ok

s
)

/]

1
=3

AN

St

B A T O T S R ST [ ——

1

@ x=g

What is the length of latus rectum of the
parabola" '

1
1

@

o
L
4

(d)

8
Consider the followmg for the next two (02)
‘te"ﬂ that follow b ,
x- f x 1 {
Let fix) = -a—_L and g(x) =

PR f
4 S ol e

o e N N et ook i B
‘—l_ f [
5. Whatis lim f(x)¥®) equal to ?
X=y
(a) Yab
%-nb
(c) - 2ab
o B

Consider the following for the next two (02)
items that follow :

Let fix) = 2-x + J2+x.

What is the domain of the function ?

W

55.

®) [2,2]
(c) 'R—(—2,2)
(@ R-[-2,2]

56. What is the greatest value of the function ?

%J’

b 6
© 8
@ 4

Consider the fbllowing ‘fdr the next two (02)
items that follow : |

Let fix) = |x| and g(x) =

[X] - 1, where [] is the
greatest integer function. = = .

. flgx)).
= h = —
53. What is !1{1—?; f(:gx)l equal to ? |Let (x). )
() l_ni_al_)z 5?? What-;is xl_i:& h(x) equal.tp ?
l In (ab) ~(a) -2
2 LA
D lnGab) ko
21In (ab) (d) i 1 i
{S‘MTH (19-A) by
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|

.

]

Ve

;
,;

B

#“
e
Ll
B

Co,,s,dgr the following for the next two (02)
ltems that follow :

4
5 x +a; x<3
.} |x-3]
-Leﬂx): a-b; - x=3 and
= +b; x>3

|x-3]
fix) be continuous at x = 3.

59. What is the value of a ?

¢ -

b 1
) 2
d) 3

6(_)‘ - What is the value of b ?

 (a) =1

' (02)
Consider the following for the next two
items that follow :

2n a 4
Let = I sin” x +cos” x o
1+3%
-2n

61. Whatis J. (sin x + cos?x) dx equal to ?

3n
(a) ?
v 5
4
3n
(c) =
d 3=n

62. WhatisIequal to?

wo

311:

4

3n
(c) ? :\
(d 3= ¥

Consider the following for the next two (02)
items that follow : ‘

ax (x+1) + b,
X —\71,

Let flx) = { XS 1

1$x52
63. If the function f(x) is differentiable at x = 1,
then what is the value of (a+b)?

(21-A)

A
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What is li_x’% f(x) equal to ?

(@ -

W -
v
@ 1

5. Iffix) = |In|x]| where 0 < x < 1, then what is
£/(0:5) equal to ?

L
3
2
3

(a) -2
W“l
@ 0
@ 2

6 Iff'x) =cos(ln x) and y = f[2~x;3

) , then

dy

what is equal to ?

(@) cos (ln(zxx— 2 D
)
;35 cos [ln[zxx_ - D
M = :—2 cos[ln(zx; 3))

: 8xn
61 Whatisj |sinx|dx equal to?

(b)

(c)

: 0
@y 2
b) 4
(c) 8 '

16
DFTK-S-MTH

R S I RN RS

68. What is the area between the

fix) = x| x| and x-axis for x € [-1,1)?

2

(a) 5‘

1

b s

(b) 3

1

(c) Z

¥ 3
3

69. What are the order and the

respectively of the
By (dy )t

2| ST 4+ [_y] +sinx=07?
dx3 dx

() 3,4

(b)

(c)

1,4
2,2

3,270 %

curve

degree

differential equation

70. What is the differential equation of all

parabolas of the type y2 = 43 (x-b)?

‘V—_

d%y dy )2
® (3] o
dzy 2
(‘c) y‘2dx2 X [%] =0
‘ 2
@ 3

(23-A)
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snsider the following for the next two (02)

ems that follow :
et a1, 82 ag ... be in AP such that

| +a5+ 810+ 215 + 80 + 825 + Agg + agy = 300.

1. Whatis
a; + 85 — 210 ~ 15 — 8gp — Qg5 + Agy + Agy

equal to?

| 34
72. What is z a_ equalto?

n=1
(a) 900
1025
() 1200
(d) 1275

Consider the following for the next two (02)
items that follow :

Letp= cos| ® 2n o L} §1‘_],
P cos(s)cos[5)andq—cos(5 cos| &

73.  What is the value of p + q ?

(a) - 1
2
by il
4

¥ o
2

DFYK-S-MTH

74.  What is the value of pq ?

1

( = ==
a) T

1
(C) Z
1

(d) TE

Consider the following for the next two (02)
items that follow :

Totp= l 3 tan 3x

3 tanx

and

q=1—-3tan2 x,0<x<mx# g—

75. What is pq equal to ?

(a) . 1

«

(c)

| oo

@ -

w| o

76. For how many values of x does 1 become
p

zero ?
(a) Novalue

M Only one value

(¢)  Only two values

( Only three values
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onsider the following for the next two (02)

"tems that follow :

ILEt sinx +siny = V3 (cosy — cosx); x + y = ";‘.
0¢x¥< -725

77 What is a value of sin 3x + sin 3y ?

@ -1

® O

(¢ 1

R4

78. Whatis a value of cos® x + cos® y ?

&5

36
® 5

36
(C) —4—
@ 1

Consider the following for the next two (02)

items that follow :
The angles A, B and C of a triangle ABC are in the
ratio3:5: 4.
79. What is the value of a +b + 2 ¢ equalto?
(a)
(b)
<

(d)

3a
2b
3b
2c
80. What is the ratio of a% : b : ¢? ?
2:2+ 43 :3
(b) 22:2_ 43 :2
© ‘2:2+ 5 :2
2:2-.3:3
DFTK.SMTH

T T B R AL T

81.

82.

83.

84.

: la
What is the equation of directrix of parabo

y2=4bx,whereb<0andb2+b-—2=0?

(a) x+1=0

yx—2=0

() x-1=0

d x+2=0

The points (- a, — b), (0, 0), (a, b) and (a2, ab)

are .

(a)

w

(c)

v

Given that 16p% + 49q%2 — 4r’ — 56pq = 0.
Which one of the following is a point on a pair
of straight lines (px + qy + 1) (px+qy—1r)=07?

7
@ (23
W '(2, _'ZJ

2
(0 @4,-7"
d 4,7

lying on the same circle
vertices of a square

vertices of a parallelogram that is not a

square

collinear

If 3x + y — 5 = 0 is the equation of a chord of
the circle x2 + y2 - 25 = 0, then what are the
coordinates of the mid-point of the chord ?

¥ 23
\4’ 4

(85107
() \2,5)
Qa1
% \ 4 4)
@ ’.3.,_1]

\Q i

(27-A)
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. % Only two :

86.

DETKSMTH

85. Consider thg following in respect. of the
9 :

(d) None

W All three

b4
+
24-k  k-16

equﬂtiOn =9,

1. The equation represents an elhpse if
k =19.

2. . The equation represents a hyperbola if
k=12

3. The equation represents a circle if

k = 20.

How many of the statements given above are

correct ?

(a) Only one

(¢ . All three

Consider the following statements in respect

2 2
of hyperbola ——— — —3e— =1::
it cosZ 0 sinZ @

1.  The two foci are independent of 6.

2. The eccentricity is sec 6.

3. . The distance between the two foci is

2 units.
How many of the statements given above are
correct ?
‘(a) Only one

®) * Only two

RN -
¥ ) ot

(d) No‘ne“ Fobe

(29-

87.  Consider the following in respect of the circle

4x% + 4y? — gax —day + a2 =0:
1.  The circle touches both the axes.
2. . The diameter of the circle is 2a.

3.  The centre of the circle lies on the line

X+y=a,
How many of the statements given above are
- correct ?
(J  Only one
Only two
(c) All three
(d) None

88. For wha_t values of k is the line
k-3)x-(5-k%)y+k%— Tk + 6 = 0 parallel
to the linex+y=17?

%-1,1

b -1,2
(- 1,-2
(d 2,-2

89. The line x +y = 4 cuts the line joining P(-1, 1) .

and Q(5, 7) at R. What is PR : RQ equal to ?

(a) 1:1 :
(b) . 1i: 2/ <SS,
(€5-.221 :

y 1:3

90. What is the sum of the iﬁtércepts of the line
whose perpendicular distance from origin is
4 units'and the angle which the normal makes
with positive direction of x-axis is 15° ?

e (a) 8
|
(0 86

@ 16
A) B

A
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o What is the length of prOJectlon of the vector
3 +2] +3k on the vector 2} +3] -

2k?
w_l_
J17
2
(b —J*1=7"
3
(C) Jﬁ
2
d P
(d) T2

—) B
92 (2 xb)2+(2 .b)¥=lddand |b |=4,

then what is the value of | 2 | ?

S5 >
93." 1f 0 is the angle between vectors a and b

such that &, b 2 0, then which one of the|

following is correct ?

T
é 13 11 1
| (@ (—._._ 9 1
CHCE IR
13

(@ o0<o<n
(b) %ses::
© o0<e<?l

; 2

(31-A)

N
40i -8j and

A A
60i +3j,

94. The vectors

A A
Bi —-52j are collinear if :

o b
(b) p=40
(e PB=-40
d Pp=26

95. Consider the following in respect of the vectors
_)
2 =(0,1,1)and b =(1,0,1):
vectors

1. The unit

- =i
perpendicular to both 2 and b is only

number of

one.

2.  The angle between the vectors is -g-

Which of the statements given above is/are

correct ?
(a)  1only
(b) 2 only

(c) Bothland?2

% Neither 1nor 2

96. If L is ‘the line with direction ratios

<3,~-2, 6> and passing through (1,-1, 1),
then what are the coordinates of the points on
L whose distance from (1,-1, 1)is 2 units ?

q@’ 1113 19 185
(7’7 7]and(777J

19 111 :
®) ( ra _g) 13 5
7’7 and —77-,—',—_
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Which one of the planeg g
x-2_Y-3 _z-4 ?
3 4 5

97. parallel to the line

(8 2x+2y+z-1=90

« 2x-y-2z+5=0

(©0 2x+2y-2z2+1=0
k{{ x-2y+z-1=0

98. What is the angle between the . lines
2x=3y=-zand 6x=—y=—4z?

(@ 0°
(b) 30°

o w
(@ 90°
What is the equation of the
sphere  concentric  with  the sphere
x2+y2+z2—2x—6y—8z—-5=08ndwhich
passes through the origin ?
@ x2+y2+22-2x-82=0
b x2+y2+22-2x-6y=0

© x24y2 422 6y—82=0

yx2+y2+22—2x 6y -82=0

100. A point P lies on the line joining A(1, 2, 3) and
B(2, 10, 1), If z-coordinate of P is 7, what is the
sum of other two coordinates ?

—~16

WH

fe) -11 Gl

(33-

mbers from
If

101. The sum of deviations of n nu
10 and 20 are p and q respectively:
(p - q)* = 10000, then what is the value ofn?

(n) 10
(n 20
(¢) 60
(d) 100
102, If X = 20 is the mean of 10 observations
Xy Xg, .., Xyo: then what is the value of
10
Z (Hxi —4) o
: b
i=1
(a) 0
(b) 12
(c) 112

% 1012

103. If the mean and the sum of squares of
10 observations are 40 and 16160 respectively,
then what is the standard deviation ?

(a) 16

W

(c) b
d 4

104. Three dice are thrown, What i is the probability
of getting a sum which is a perfect square ?

17
(a) 'i—o—s .

19
108
23
08

y —

A)
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V

105' ed]ﬂustive events.

[aPA) = 3P(B) = 4P(C) = 5P(D),
ipen what is 77P(A) equal to ?

(8) 12

) 15

W

@ 30

106, Two distinct natural numbers from 1 to 9 are
picked at random. What is the probability that

their product has 1 in its unit -place ?

(a) 1
81

B L
72

1

—

18

m 1
36

07, ; -
e dice are thrown, What is the probability

i difference of numbers on them is 2 or 37

5 c and D are mutually exclusive ang

1; 21 3’ == 10

108. What is the mean of the numbers 9c
9r

: ‘ 9¢
with frequencies ?C, o¢cy, "Cz
respectively ?

(a) 1-1x98

w 12 % 74

() &5

(d) 055

109. The probability that a person recovers from a
disease is 0-8, What is the probability that
exactly 2 persons out of 5 will recover from the

disease ?

(a) 0-00512

d 00512

110. Suppose that there is a chance for a newly
constructed building. to collapse, whether the
design is faulty or not. The ci:ance that the
design is faulty is 109, The chance that the

building collapses ig 95% if the design is

faulty, otherwise it is 459, If it is seen that

the building has collapsed, then what is the
probability that it jg due to faulty design ?
(a) 010

(b) 019

V 045
@ 095

(35-A)
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1 ris the coefficient of correlation between x

g i ‘ |

gnd 37 then what is the correlation coefficient
een (3x+4)and (- 3y + 3) ?

(© ,[§r

@ -vor

(37-A)

113, If H is the Harmoni

114. In a class, there are 1 gtude

10C,, then wha

10¢,, 1%c;;, and

200
of g *
(a) 1

14

1 ocllic)
b 17

i
14

1
dy ==
() 31
nts including the

P and Q. What i8 the probability that

students
P and Q sit together if seats are assigned
| randomly ?
113, A fair coin is tossed 6 times. What is the W gy
i : n
Ipmbabi]ity of getting a result in the 6t,h toss| (b) . _2_
. ' » d . n
which is different from those obtained in the © 4 -
n
first five tosses ? | /d)/ =
2n
(a) G '
16 115. In a Binomial distribution B(n, p), n = 6 and
1 =4)= e :
(b) L 9P(X 14) P(X = 2). What is p.equal to ?
(a) -
4
v L 1
32 g
(b) 5
1 L g
w -671. (c) Z
¥ i
b
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V.

qfder the following for the next five (05)
e i

m‘ hat follow :
e

0 bOY® P, Q, R and three girls §, T, U aro to be
i

e din & TOW for a group photograph,
" A

¢ What is the probability that all three boys sit

together ?
!
5

-1
®) - 1
bl

() e
L

12

1. What is the probability that boys and girls sit

118, What is the probability that

R —

together ?

o
v

(c)

(d)

119. What is the probability that P and @ take

two end positions ?

(b)
*

@

2
b

S e

il .
18

aa
15
7

156

u
1’5

11
45

no WO gir!

f il

the

120. What is the probability that Q and U sit

alternatively ? together ?
5_ | 3
Y gt / L
10 ‘ 4
" 8 -
e 6 © 3
@ 1 1
) % (d) 5
) -A
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